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KeC[ - De

SECTION - A

veesš : efkeâvneR ome ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve Skeâ Debkeâ

keâe nw~       1×10=10

Note : Attempt any ten questions. Each question carries

one mark.

Q. 1. (i) efJeMJe heÙee&JejCe efoJeme ......... keâes ceveeÙee peelee nw~

World Environment Day is held on  _____.

(ii) pewJe efJeefJeOelee keâer ke=âef$ece DeeJeemeerÙe mebj#eCe keâes .........

keânles nQ~
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The artificial habitat conservation of biodiversity

is known as  _____.

(iii) mJeleb$e Yeejle ceW je°^erÙe Jeve veerefle keâer Iees<eCee .........

keâes keâer ieF&~

The National Act was announced in

independent India on ______.

(iv) ......... Je<e& mJeÛÚlee meJex#eCe Meg® efkeâÙee ieÙee Lee~

In _____ year swachhta survekshan was

started.

(v) he=LJeer kesâ JeeÙegceC[ue ceW GheefmLele Deespeesve mlej .........

efkeâjCeeW kesâ ØeJesMe keâes keâce keâjlee nw~

The ozone layer of earth's atmosphere restrict

the entrace of  _____ light.
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(vi) heÙee&JejCe ceW Tpee& keâe ØecegKe œeesle nw :

(De) heJeve

(ye) hesš^esefueÙece

(me) metÙe&

(o) peue

The energy source in environment is :

(a) Air

(b) Petroleum

(c) Sun

(d) Water

(vii) pewJe efJeefJeOelee keâe Øekeâej veneR nw :

(De) DeevegJebefMekeâ efJeefJeOelee

(ye) Øepeeefle efJeefJeOelee

(me) heeefjefmLeeflekeâ efJeefJeOelee

(o) ØeeosefMekeâ efJeefJeOelee

Which is not the type of biodiversity.

(a) Genetic diversity

(b) Species diversity

(c) Ecological diversity

(d) Regional diversity

(viii)efvecveefueefKele ceW mes keâewve mee Øeesšeskeâe@ue «eerve neGme iewme

Glmepe&ve mes mecyeefvOele nw :

(De) yesmeue mebefOe

(ye) jecemej mebefOe

(me) keäÙeesšes Øeesšeskeâeue

(o) ceeBefš^Ùeue Øeesšeskeâeue

Which of the following protocol is related to

greenhouse gas emission ?

(a) Basal Treaty
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(b) RamsarTreaty

(c) Queto Protocol

(d) Montreal Protocol

(ix) mJeÛÚlee meJex#eCe keâes efkeâme ceb$eeueÙe Éeje mebÛeeefuele efkeâÙee

peelee nw :

(De) kesâvõerÙe DeeJeeme SJeb Menjer ceeceueeW keâe ceb$eeueÙe

(ye) ie=n ceb$eeueÙe

(me) mJeemLÙe SJeb heefjJeej keâuÙeeCe ceb$eeueÙe

(o) ceeveJe mebmeeOeve efJekeâeme ceb$eeueÙe

Which of the ministry control the ? Swachhta

Survekshan :

(a) Ministry of Central Housing and Urban

Area

(b) Home Ministry

(c) Ministry of Health and Family Welfare

(d) Human Resource Development Ministry

(x) efvecve ceW mes keâewve mee "esme keâCe iueesyeue JeeefceËie keâe keâejCe

Yeer yevelee nw :

(De) keâeuee keâeye&ve

(ye) nje keâeye&ve

(me) heeruee keâeye&ve

(o) veeruee keâeye&ve

Which of the following solid particle is involved

for global warming :

(a) Black carbon

(b) Green carbon

(c) Yellow carbon

(d) Blue carbon
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(xi) JeeÙeg Øeot<eCe (efveJeejCe SJeb efveÙeb$eCe) DeefOeefveÙece keâye heeefjle

efkeâÙee ieÙee :

(De) 19 ceeÛe&, 1981

(ye) 19 ceeÛe&, 1982

(me) 29 ceeÛe&, 1981

(o) 29 ceeÛe&, 1982

When was the Air Pollution Prevention Control

Act passed :

(a) 19 March, 1981

(b) 19 March, 1982

(c) 29 March, 1981

(d) 29 March, 1982

(xii) keâeye&ve ceesveesDeekeämeeF[ Skeâ Øeot<ekeâ nw keäÙeeWefkeâ Ùes :

(De) Deekeämeerpeve ceW mebÙeesie keâjleer nw~

(ye) iueeÙekeâesefueefmeme keâe meboceve keâjleer nw~

(me) nerceesiueesyeerve mes mebÙeesie keâjleer nw~

(o) lebef$ekeâeDeeW keâes efveef<›eâÙe keâjleer nw~

Carbon monoxide is a pollutant producer

because it :

(a) Save from oxygen.

(b) Inhibition of glycolysis

(c) Saves from haemoglobin

(d) Nerve makes them inactive

KeC[ - ye

SECTION - B

veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve kesâ 2 Debkeâ

nQ~ 5×2=10

Note : Attempt any five questions. Each question carries

2 marks.
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Q. 2. Deefle ueIeg GòejerÙe ØeMve (25-30 Meyo) :

Very Short Answer Type (25-30 words) :

(i) celmÙe heeueve mes Deehe keäÙee mecePeles nQ ?

What do you mean by fish culture ?

(ii) DecueerÙe Je<ee& keäÙee nw ? Fmekesâ œeesleeW keâes efueefKeS~

What is acid rain ? Write its sources.

(iii) Jeve mebj#eCe keäÙee nw ? Fmekesâ cenlJe keâes efueefKeS~

What is forest conservation ? Write its

importance.

(iv) peue Øeot<eCe mes keäÙee mecePeles nQ ? Fmekesâ œeesleeW keâes efueefKeS~

What do you mean by water pollution ? Write

about its source.

(v) pewJe efJeefJeOelee keäÙee nw ? efJeMes<eleeSb efueefKeS~

What is biodiversity ? Write its features.

(vi) heMegOeve mes keäÙee mecePeles nQ ?

Waht do you mean by livestock ?

(vii) iueesyeue Jeee\ceie keäÙee nw ? Fmekesâ œeesleeW keâes efueefKeS~

What is global warming ? Write about its

source.

KeC[ - me

SECTION - C

veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve kesâ 4 Debkeâ

nQ~ 5×4=20

Note : Attempt any five questions. Each question carries

4 marks.

Q. 3. ueIeg GòejerÙe ØeMve (250 Meyo)

Short Answer Type (250 words)

(i) Ûeejeieen Yetefce keâer mecemÙee keâes mecePeeFS~

Write about problem of gazing land.
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(ii) Yeejle kesâ DeewÅeesefiekeâ mebjÛevee keâe JeCe&ve keâerefpeS~

Write about industrial structure of India.

(iii) JeeÙeg Øeot<eCe kesâ keâejCe SJeb efveÙeb$eCe kesâ GheeÙe keâe JeCe&ve

keâerefpeS~

Describe about causes and control measures

of air pollution.

(iv) Yeejle ceW Je=nod pewJe efJeefJeOelee kesâ efueS GòejoeÙeer Devegketâue

oMeeDeeW keâe JeCe&ve keâerefpeS~

Describe the favorable condition for the Indian

biodeversity.

(v) heÙee&JejCe veerefle keäÙee nw ? ÚòeermeieÌ{ heÙee&JejCe veerefle keâe

JeCe&ve keâerefpeS~

What is environmental policy ? Write about

environmental policy for C.G.

(vi) DecueerÙe Je<ee& kesâ keâejCe SJeb peerJeeW hej heÌ[ves Jeeues ØeYeeJe

keâe JeCe&ve keâerefpeS~

What are the factors of acid rain and describe

its effect on animals ?

(vii) Yeejle ceW DeewÅeesefiekeâ mebjÛevee SJeb efJekeâeme keâe JeCe&ve

keâerefpeS~

Write in detail about Indian industrial structure

and its development.

KeC[ - o

SECTION - D

veesš : efkeâvneR leerve ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve kesâ 10 Debkeâ

nQ~ 3×10=30

Note : Attempt any three questions. Each question carries

10 marks.
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Q. 4. efveyebOeelcekeâ ØeMve (500 Meyo mes DeefOekeâ) :

Essay Type (more than 500 words) :

(i) mecegõer ceÚueer kesâ ØeyevOeve SJeb mebj#eCe keâes efJemleej mes

mecePeeFS~

Describe in detail about management and

conservation of marine fisheries.

(ii) Yeejle ceW heÙee&JejCe veerefle kesâ keâeÙee&vJeÙeve keâer ef›eâÙeeefJeefOe

keâe JeCe&ve keâerefpeS~

Describe about the mechanism of

implementation of environmental policy in

India.

(iii) heâmeue Glheeove heæefle keäÙee nw ? Fmekesâ Øekeâej SJeb cenlJe

keâes mecePeeFS~

What is cropping pattern ? Write its type and

importance.

(iv) peue Øeot<eCe kesâ og<ØeYeeJe SJeb efveÙeb$eCe kesâ GheeÙe keâe efJemleej

mes JeCe&ve keâerefpeS~

Write in detail about demerits of water

pollution and describe about its control

measures.
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